The cheetah
Answer:

C1

its prey by running very fast.

The elephant
Answer:

its trunk to pick up objects.

The snake
Answer:

its prey by strangling it.

The bird
Answer:

its wings to fly.

The monkey
Answer:

on trees using its tail.

The lion
Answer:

in the grass to hide from its prey.

The dolphin
Answer:

in the ocean to catch fish.

The kangaroo
Answer:

by hopping on its back legs.

The giraffe
Answer:

tall trees for leaves to eat.

The turtle
Answer:

its body inside its shell for protection.




Answers

The cheetah its prey by running very fast.
Answer: will catch

The elephant its trunk to pick up objects.
Answer: will use

The snake its prey by strangling it.
Answer: will kill

The bird its wings to fly.
Answer: will flap

The monkey on trees using its tail.
Answer: will swing

The lion in the grass to hide from its prey.

Answer: will hide

The dolphin in the ocean to catch fish.

Answer: will swim

The kangaroo by hopping on its back legs.
Answer: will hop

The giraffe tall trees for leaves to eat.

Answer: will reach

The turtle its body inside its shell for protection.
Answer: will retract



